Titration Example Problems: Just like your lab!
1. Standardizing an NaOH solution using a “primary standard”
A solution of sodium hydroxide is “standardized” by titration using solid oxalic acid, H2C2O4, as the acid. It is found that 24.5 mL of the NaOH solution is needed to react completely with 2.05 g of oxalic acid. 

What is the concentration of the NaOH solution?
H2C2O4(aq) +  2 NaOH  (  2 H2O(l)  +  Na2C2O4(aq)

2. Determining the molar mass of an unknown diprotic acid
The NaOH solution above was used to titrate an acid of unknown formula, but known to be diprotic: H2A, where we don’t know what “A” is. A 1.046 gram sample of the unknown acid is titrated using 31.4 mL of the NaOH solution. What is the molar mass of H2A?
H2A(aq) +  2 NaOH  (  2 H2O(l)  +  Na2A(aq)

